ACTIVE COMPONENTS® 0 1/2 1
R

Installation Instructions

Scale1:1

Tools Required

3/8" Socket
5/16" Socket

1/8"
Drill Bit

Wood Blocks
to Support Pedestal

g
©) ’

1/4-20 x 1/2" Bolt

CUSTOMER SERVICE PHONE: 1-800-426-8562

HAVWORTH’| eco.no:  355-001 Page: 10f6 PartNo: 7029-9959 Rev: 2




FOR INTUITY

2 NOTE: Remove trim (J1)
a before installing Ender (A).

FLUSH TO WORKSURFACE CENTER FRONT TO BACK

Y

T o +— 0.0"

¢

NOTE: Use clamps to
hold storage unit (A)
tight and level to leg.

" @ P

#12-11 x 7/8" Hex Washer

CUSTOMER SERVICE PHONE: 1-800-426-8562

NOTE: Remove trim (J1)
before installing Ender (A).

B
S

|

~ =

ANGLE LEG

- -
T rccaa="

HAVWORTH| Eeco.ne:

355-001

Page:

20f6

Part No:

7029-9959

Rev:




2b

NOTE: Use clamps to
hold storage unit (A)
tight and level to leg.

FLUSH TO WORKSURFACE ~ CENTER FRONT TO BACK
ﬂ@;:qg .| L 0.0"
- =] - - ——q_

CUSTOMER SERVICE PHONE: 1-800-426-8562

l

op

M6 x 10mm Screw

HAWORTH"

E.C.O. No: 355-001

Page:

30of6

Part No: 7029-9959

Rev: 2




FOR INTUITY AND RESIDE

NOTE: Use clamps to
hold storage unit (A)
tight and level to leg.

e

1/4-20 x 1/2"Bolt

#10-16 x 3/4" Self Drilling
Hex Head Screw

#10 x 5/8" Pan Head Screw

CUSTOMER SERVICE PHONE: 1-800-426-8562

S

NOTE: Use clamps to hold storage
unit (A) tight and level to leg.

HAVWORTH| Eco.no:

355-001

Page: 40of6 Part No: 7029-9959

Rev:




LINER INSTALLATION (OPTIONAL)

SHELF INSTALLATION (OPTIONAL)

5

(K)

#10-12x7/16" Pan
Head Screw

|—) Pz
77 /. 2
.ll, /Iz.,

Wi

\

CUSTOMER SERVICE PHONE: 1-800-426-8562

HAVWORTH’| eco.No:  355-001 Page: 50f6 PartNo: 7029-9959 Rev:




INTUITY - ANGLE LEGS

4.85
FOR 63” INTUITY WITH ANGLE LEGS <>
=D =¥ 249
63”
4.85
FOR 51” INTUITY WITH ANGLE LEGS <
=D i |¥ 249
5‘] n”
7.88
FOR 63” INTUITY WITH STRAIGHT LEGS o
5.38
=D B r
63//
7.88
FOR 51” INTUITY WITH STRAIGHT LEGS <
A
5.38
=D Iz r
- 51 ! »
14.09
FOR 63” RESIDE
: 7363
=D 3
63”
11.09
FOR 51” RESIDE
1363
=] =B
517
CUSTOMER SERVICE PHONE: 1-800-426-8562
HAVWORTH’| eco.ne: 355001 Page: 60f6 PartNo: 7029-9959 Rev: 2




